## RESOLUTION NO. //-09 CITY OF CENTERVILLE, OHIO

SPONSORED BY COUNCILMEMBER Brooks Compton ON THE 23nd DAY OF March 2009.

A RESOLUTION ACCEPTING THE BID SUBMITTED BY GREEN VELVET SOD FARMS, LESCO, INC.-JOHN DEERE AND TURFGRASS, INC. FOR THE PURCHASE OF FERTILIZER FOR THE GOLF CLUB AT YANKEE TRACE AND TO AUTHORIZE THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for the purchase of fertilizer for The Golf Club at Yankee Trace according to specifications prepared by the City, and

WHEREAS, Green Velvet Sod Farms, Lesco, Inc.-John Deere, and Turfgrass, Inc., were the low and best bidders.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the following bids be and are hereby accepted for fertilizers for The Golf Club at Yankee Trace, marked as Exhibits "A,", "B," and "C," attached hereto and made a part hereof:

Green Velvet Sod Farms, \$6,895.90 for the purchase of the following:

130 bags of 15-3-15 with Merit (substitution)	
@ 26.98 each	\$3,507.40
40 bags of Andersons 18-9-18 @ \$51.90	2,076.00
30 cases 15-0-0 plus 6% iron	3000 <b>2</b> 000 100 100 100 100 100 100 100 100 100
with $5/\text{case}$ @ \$8.75 each = \$43.75 case	1,312.50

Lesco, Inc.-John Deere \$15,036.00 for the purchase of the following: 380 bags of 10-5-25 with Dim (substitution) @.22.50\$8,550.00 345 bags of 16-25-12 with 70% Poly-S (substitution) @\$18.80 6,486.00 Turfgrass Inc., \$1,750.00 for ten cases of Gary's Green @175.00 per case \$1,750.00 Section 2. The City Manager is hereby authorized and directed to enter into any necessary contracts to evidence acceptance of said bids and to make payment pursuant thereto. PASSED this 23nd day of March, Mayor of the City of Centerville Ob: 2009. ATTEST: Debra Q. (James)
Clerk of Council, City/of Centerville, Ohio CERTIFICATE The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number /1-09, passed by the Council of the City of Centerville, Ohio on the 23nd day of March Debra a. James
Clerk of Council Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions. Department of Law Scott A. Liberman Municipal Attorney



ITEM	ITEM BID	PRICE
10-5-25 W/DIM 50% NUT	5-5-25 .103 DIM 125SGN 14-0-7 .125DIM 40%POLY S 150SGN	\$33.95/bag \$29.80/bag
15-3-15 W/MERIT	15-2-5 W MALLET 20%SCU 230 SGN 15-0-15 W/ GRUBOUT 50% POLY S 150 SGN	\$26.98/bag \$45.00/bag
16-25-12 70% POLY S	18-24-12 25%SCU 14-21-5 AM	\$30.50/bag \$23.75/bag
ANDERSONS 18-9-18 CONTEC DG	SAME	\$51.90/bag
GARRYS GREEN		N/B
LARGO		N/B
15-0-0 6% IRON	Greens Fee 2x2.5	\$8.75/gal

Bid Item Number	Quantity	Units	Product Description	Product Bidding	Unit Price	Extended Price	How Bidding
1	380	bags	10-5-25 w/Dim 50% NUT				No Bid
1A	380	bags		LESCO Dimension 0.15% 5-10-17M SOP 50 lb/bag #023567	\$29.00/bag	\$11,020.00	Alternate
1B	380	bags		LESCO Dimension 0.15% 5-0-17 5Fe 50 lb/bag #069143	\$22.50/bag	\$8,550.00	Alternate
2	130	bags	15-3-15 w/Merit				No Bid
2A	130	bags		LESCO Merit 0.2% 19-0-19M 50%PPSCU 50 lb/bag #082053	\$38 25/bag	\$4,972.50	Alternate
2B	130	bags		LESCO Merit 0.2% 14-0-14 30%PPSCU 50 lb/bag #082028	\$28.40/bag	\$3,692.00	Alternate
3	345	bags	16-25-12 70% Poly-S				No Bid
3A	345	bags	W. C.	LESCO 18-24-12 50%PPSCU 50 lb/bag #032595	\$18.80/bag	\$6,486.00	Alternate
4			Anderson's 18-9-18				No Bid
4A	40	bags		LESCO Trivex 18-3-18E Nitrate 50 lb/bag #088714	\$30.00/bag	\$1,200.00	Alternate
5	30	cases	15-0-0 6% Iron				No Bid
5A	30	cases		LESCO Iron + Chelaled 12N 6Fe 2Mn 2x2.5gal/cs #084046	\$45.00/cs	\$1,350.00	Alternate
6	10	cases	Gary's Green				No Bid
6A	10	cases		Progressive Turf 10-3-5 Turf Foundation 2x2.5gal/cs #089331	\$110.00/cs	\$1,100.00	Alternate
7	30	gallons	Largo				No Bid
7A	30	gallons		LESCO Iron + Chelated Zn 2x2.5gal/cs #084051	\$7.00/gal	\$210.00	Afternate

Terms: Net 30 Delivery: 7-10 Days ARO FOB: Destination

Prices Firm: Through 12/31/09 Contact: Bid Department-LESCO, Inc 1301 E 9th St, Ste 1300

Cleveland, OH 44114 Phone: 1-800-321-5325, ext. 6550 Fax: 248-581-1433

Email: bids@johndeerelandscapes.com



## City of Centerville Golf Club at Yankee Trace Fertilizer Bid, 2009

			Price per		
Granular Fertilizer	Quantity	is.	each	7	otal price
ANDERSON'S 16-25-12 70% Poly S	220	\$	38.75	\$	8,525.00
ANDERSON'S 10-5-25 .103% Dimension 50% MU	380	\$	40.00	\$	15,200.00
ANDERSON'S 15-2-15 50% NS-52+.2% MERIT	250	\$	43.00	\$	10,750.00
Andersons Contec DG 18-9-18 61% MU	40	\$	54.30	\$	2,172.00
Liquid Fertilizer	Quantity		Price per case	7	Total price
GRIGG BROTHER'S GARY'S GREEN 18-3-4 + IRON	10cs	\$	175.00	\$	1,750.00
Gemstar 12-0-0 +5% Fe Amino Iron .5% Mn,1% Zn	30 cs	\$	72.00	\$	2,160.00
Largo				No Bid	
GRAND TOTAL				\$	40,557.00

## TURFGRASS, INC.

## **HEADQUARTERS**

P.O. BOX 667 ◆ SOUTH LYON ◆ MICHIGAN ◆ 48178-0667 Phone (248) 437-1427 ◆ Fax (248) 437-5610

> FENTON , MISSOURI P.O. BOX 1371 • FENTON • MO 63026 Phone (636) 305-7100 • Fax (636) 305-7535

KENTUCKY
P.O. BOX 637 ◆ FLORENCE ◆ KENTUCKY ◆ 41022-0637
Phone (859) 594-4948 ◆ Fax (859) 594-4048

MARSHFIELD, MISSOURI 85 FISHEL WAY • MARSHFIELD • MO 65706 Phone (417) 859-0592 • Fax (417) 859-0593

**NORTHERN MICHIGAN** 

650 EXPRESSWAY COURT . GAYLORD . MICHIGAN . 49735

Phone (989) 705-8180 • Fax (989) 705-8210